
Environmental Product Declaration 
Aluminium Curtain Wall Systems



Environmental Product Declaration
This environmental product declaration (EPD) is for a standard 
curtain wall system produced by Kawneer (UK) Ltd in Runcorn, 
England.  It has been developed using a Life Cycle Analysis (LCA) 
study that we commissioned in 2016 and carried out in 
accordance with the principles of ISO 14040:2006, ISO 14040: 
2006 and EN 15804:2012.

This EPD discloses the average impacts and resources used 
to supply a standard Kawneer curtain wall. 

Kawneer Curtain Walling
Kawneer curtain walling is designed to offer optimum weather 
and thermal performance. Multiple ranges are available to meet 
bespoke customer requirements. This study considers the AA 100 
50mm system range.

Analysis
This EPD has been developed using an LCA study undertaken by 3Keel 
LLP, an independent third party sustainability consultancy.  

Kawneer (UK) Ltd
Astmoor Road
Astmoor Industrial Estate
Runcorn, Cheshire, WA7 1QQ
United Kingdom



Product Description
The curtain wall system assessed in this study is a linear metre of 
curtain walling exclusive of glazing. Kawneer curtain walls are 
designed with aesthetics and energy efficiency in mind, both in 
terms of real world customer use and its production process.

Materials
• Kawneer curtain walling uses simple materials that maximise 
the opportunity for reuse and recycling at their end of life.
• Frame materials are 100% recyclable and Kawneer extruded 
aluminium includes more than 75% recycled content.

Production process
The curtain wall system assessed in this EPD are produced by 
Kawneer in Runcorn, England. Aluminium billets containing 
primary and secondary aluminium are extruded to form the 
curtain wall profile. Extrusions are then aged before being coated, 
packaged and supplied to customers. The extrusions are then 
fabricated into a curtain wall and delivered to construction sites 
for fitting. 

Many of Kawneer’s product systems are listed in the BRE Global 
Green Guide and achieve A and A+ ratings and are suitable for 
projects that require sustainable and environmental advantages.

Mullion
• Dry jointed system.
• Concealed zone drainage and mullion drainage options.
• Complies with all current thermal regulations.

Face cap

Transom

Material Declaration
Table 1: Median material composition of a linear metre curtain wall

 Weight (kg) %
Mullion/Transom 3.81 83%
Face cap 0.48 10%
Coating 0.33 7%
Total 4.62 100%

Product profile



An LCA determines the cradle-to-grave impacts of a product. 
At Kawneer we take all our responsibilities very seriously. We’re 
dedicated to creating products and systems that promote 
integrated, whole-building design practices. LCA helps us 
measure and review our products to minimise the resources and 
impacts associated with their use from cradle-to-grave.  

This EPD covers ‘cradle-to-gate’ + end of life processes. Although 
it excludes customer production and installation, the full lifecycle 
impacts of the materials in the building are considered.

Declared Unit
The declared unit is a linear metre.

Key Considerations
• Kawneer production and supply chain data was used for 
extrusion and coating processes.
• Data were provided for 2015 production and were collated 
under EN 15804 guidelines.
• All significant inputs were included covering more than 95% 
of inputs and neglected inputs are likely near 0%.
• The analysis includes the resources and impacts associated
with the production of a curtain wall for fittng by Kawneer’s
customers. It excludes glazing and building installation. 

Assumptions
• UK construction sector waste statistics provided by Defra 
(2015) were used to assess the end of life management routes. 
• Aluminium has a high market value and has a strong recycling 
rate in the UK construction industry. Recycling of aluminium 
has a substantially lower environmental impact than the 
production of virgin alloy, however this analysis only considers 
the environmental benefits of Kawneer’s use of recycled 
aluminium in purchased billets and third party supplied 
extrusions. 
• Ecoinvent 3.2 was used to assess the environmental impact of 
purchased materials and processes.

Environmental impact
Global Warming

Ozone Depletion

Acidification

Eutrophication

Photochemical Ozone Creation

Abiotic Resource Depletion (Energy)

Abiotic Resource Depletion (Fossil Fuels)

Waste flows
Hazardous waste

Non-hazardous waste

Radioactive waste

Resource use
Primary Energy

Fresh Water

RAW
MATERIALS

PRIMARY
INGOT

SECONDARY
INGOT

EXTRUSION
PROCESS

PRODUCT FABRICATION AND DELIVERY TRADE AND 
 INSTALLATION

EXTRUDED
ALUMINIUM

PAINT

PLASTIC

PACKAGING

CRADLE-TO-GATE EXCLUDED FROM ANALYSIS END-OF-LIFE

TRANSPORT PRODUCTION PACKING TRANSPORT

TRANSPORT

PRODUCT
MANU.

DISTRIBUTION
TO END USER INSTALL DISPOSAL

EPD Parameters

This study was conducted following the principles and analytical requirements of EN 15804 
regarding the creation of EPDs for construction products. The standard requires that the lifecycle 
stages assessed and disclosure of environmental criteria adhere to specific environmental, waste 
and resource flows in accordance with CML 2001 methods and characterisation factors.. 

Environmental Metrics and Resources

FINISHED 
PROFILES

RECOVERY & 
DISPOSAL



• The majority of impacts associated with the 
production and supply of windows occur before 
they reach Kawneer as part of the raw material 
supply that goes into the extrusion process. This is 
expected and consistent with other analyses 
assessing the impacts of extruded aluminium 
products.

• Manufacturing impacts are the second biggest 
contributor across almost all impact and resource 
categories, except for waste.

• A median product profile was used to calculate 
the average impact of Kawneer curtain walling. 

• The specific curtain wall profile supplied by 
Kawneer may be different depending on:

• Specific product type
• Length
• Profile

• Although the specific impact may vary, the 
relative contribution to each life cycle stage does 
not change as the materials used are adjusted in a 
similar proportions.

GWP = Global Warming Potential (Climate Change); ODP = Ozone Depletion Potential; AP = Acidification Potential for Soil and Water; EP =Eutrophication Potential; POCP = 
Photochemical Ozone Creation; ADPE = Abiotic Depletion Potential – Elements; ADPF = Abiotic Depletion Potential – Fossil Fuels Resource use; PERE = Use of renewable primary 
energy excluding renewable primary energy resources used as raw materials; PERM = Use of renewable primary energy resources used as raw materials; PERT = Total use of renewable 
primary energy resources; PENRE = Use of non-renewable primary energy excluding non-renewable primary energy resources used as raw materials; PENRT = Total use of non-
renewable primary energy resources FW = Net use of fresh water; HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed; RWD =Radioactive waste disposed; 

Life Cycle Assessment of Curtain Wall System

Global Warming Potential

Disposal

Recovery

Manufacturing

Material Transport

Raw Materials

Disposal

Recovery

Manufacturing

Material Transport

Raw Materials

kg
C

O
2e

 p
er

 lin
ea

r m
et

re
LCA Results

Product Range Variability

100%

80%

60%

40%

20%

0%

9.00E+01

7.00E+01

6.00E+01

8.00E+01

5.00E+01

4.00E+01

3.00E+01

2.00E+01

1.00E+01

0.00E+00
Smallest mullion/transom Largest mullion/transom

GW
P

ODP AP EP
POCP

ADPE
ADPF

PERE
PERM

PERT

PENRE

PENRT
FW

HW
D

NHW
D

RW
D



Raw Material Impacts 
• Aluminium material for the curtain walling is the single 
biggest raw material impact. 
• Using recycled, rather than primary (virgin), aluminium 
can reduce the impact of its use by over 85%. 

Extrusion Impacts
• The energy used in the extrusion process – particularly 
electricity – is the primary contributor to Kawneer’s 
manufacturing impact.
• Improving production efficiency and using renewable 
energy within the production process can significantly 
reduce these impacts.

End of Life Impacts
• Recycling aluminium when a window frame is removed 
from a building will substantially reduce its disposal 
impacts.
• Approximately 87% of all construction waste is 
recoveded in the UK and aluminium frames are 
considered to have a 98% recovery rate.

Interpreting LCA Results (GWP)

TRANSPORTATION 
45%

ENERGY 
96%

FRAME 
97%

PROTECTIVE 
COATING 

2%

PACKAGING 
0% TRANSPORTATION 

1%

WATER 
0%

DISPOSAL 
55%

Raw 
Materials

(78%)

Kawneer
(21%)

End of Life
(1%)

WASTE 
4%



Global Warming Potential (GWP)  kg CO2e 5.261E+01	 6.698E-01	 4.388E+00	 7.142E-03		 2.182E-01
Ozone Depletion Potential (ODP) kg CFC-11e 4.296E-06		 1.229E-07		 4.755E-07		 8.736E-10		 3.677E-08
Acidification Potential (AP) kg SO2e 3.348E-01		 3.053E-03		 1.325E-02		 3.436E-05		 1.221E-03
Eutrophication Potential (EP) kg PO43-e 1.148E-01		 6.044E-04		 3.285E-03		 7.549E-06		 2.189E-04
Photochemical Ozone Creation  (POCP) kg C2H4e 2.515E-02		 1.129E-04		 6.559E-04		 1.026E-06		 3.832E-05
Abiotic Depletion Potential - Elements (ADPE) kg Sb e 3.120E-01		 4.889E-03		 3.370E-02		 3.242E-05		 1.359E-03
Abiotic Depletion Potential – Fossil Fuels (ADPF) MJ e 6.653E+02		 1.024E+01		 7.467E+01		 6.816E-02		 2.843E+00

Primary Energy – renewable energy (PERE) MJ NCV 2.028E+02		 1.328E-01		 2.619E+00		 9.540E-04		 1.280E-02
Primary Energy – renewable energy as raw materials (PERM) MJ NCV 1.451E-02		 7.524E-05		 1.395E-03		 2.769E-07		 4.823E-06
Total primary renewable energy resources (PERT) MJ NCV 2.028E+02		 1.329E-01		 2.620E+00		 9.542E-04		 1.280E-02
Non-renewable primary energy (PENRE) MJ NCV 5.350E+02		 1.069E+01		 6.277E+01		 7.146E-02		 3.049E+00
Total use of non-renewable primary energy (PENRT) MJ NCV 5.350E+02		 1.069E+01		 6.277E+01		 7.146E-02		 3.049E+00
Fresh water (FW) m3	 6.262E-01		 1.964E-03		 3.196E-02		 5.637E-05		 2.913E-04

Hazardous waste disposal (HWD) kg waste 8.323E-03		 6.231E-06		 7.721E-05		 8.336E-08		 9.847E-07
Non-hazardous waste disposal (NHWD) kg waste 1.132E+01		 4.781E-01		 1.269E+00		 7.993E-03		 1.411E-02
Radioactive waste disposal (RWD) kg	waste	 3.892E-03		 6.980E-05		 2.804E-04		 4.791E-07		 2.084E-05

ENIVIRONMENTAL PORDUCT DECLARATION 
LIFECYCLE STAGE MODULE

* The Disposal Module includes waste processing that cannot be separated out.

References
BRE Global. BRE Environmental Profiles 2013: Product Category Rules for Type III environmental product declaration of construction products to EN 15804:2012+A1:2013. PN 514. Watford, BRE, 2014. 
BSI.  Sustainability of construction works Environmental product declarations Core rules for the product category of construction products. BS EN 15804:2012+A1:2013. London, BSI, 2013. 
BSI. Environmental labels and declarations – Type III Environmental declarations –Principles and procedures. BS EN  ISO 14025:2010 (exactly identical to ISO 14025:2006). London, BSI, 2010. 
BSI. Environmental management -Life cycle assessment Principles and framework. BS EN ISO 14040:2006. London, BSI, 2006. 
BSI. Environmental management – Life cycle assessment –Requirements and guidelines. BS EN ISO 14044:2006.  London, BSI, 2006.
Weidema, B.P.; Bauer, Ch.; Hischier, R.; Mutel, Ch.; Nemecek, T.; Reinhard, J.; Vadenbo, C.O.; Wernet, G, 2013, The ecoinvent database: Overview and methodology, Data quality guideline for the ecoinvent database version 3, www.ecoinvent.org 

CRADLE-TO-GATE END-OF-LIFE

LCA Results Data Table (per linear metre)

Environmental 
impact per unit

Resource 
use per unit

Waste to 
disposal

A1
Raw 
MaterialsUnit

A2
Material 
Transport

A3
Manufacturing

C2
Transport 
to Disposal

C4
Disposal*

Indicator



3Keel LLP has conducted this life cycle assessment in accordance with data provided by Kawneer (UK) Ltd. 3Keel has exercised 
due care in assessing the quality of information provided, but has not independently verified information provided by others.

Company information
Kawneer  UK  Ltd  is  part of Arconic Building and Construction Systems, and 
enjoys the extensive resources of the entire Arconic organisation, allied to the 
specific glazing systems experience of Kawneer ’s many operations around the 
world. As a result of this our partners and customers have direct access to one 
of the largest pools of technical expertise in the construction industry.

3Keel LLP
11 Standingford House
26 Cave Street
Oxford, OX4 1BA
United Kingdom

Tel: +44 (0) 1865 236 500
E-mail: research@3Keel.com

Kawneer UK Limited
Astmoor Road
Astmoor Industrial Estate
Runcorn, Cheshire
WA7 1QQ
United Kingdom
Tel: + 44 (0)1928 502500
Fax: + 44 (0)1928 502501

Kawneer UK London Office
12 Berwick Street
Soho
London
W1F 0PN
United Kingdom
Tel: +44 (0)207 287 5911

Authorities
ISO 9001:2008
BS EN 12020
BS 3987
BS 6496
BS 6375 Part 1
BS 6375 Part 2
BS 4873
PAS 24:2012
BS 4255 Part 1

mailto:research@3Keel.com 

